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ThlS Questlon Paper cons1sts of 34 questions including Section - A and Sectton B. Section - A
consists of questions related to the subject Information Technology and Section - B consists of the
questions related to Functional English.
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8, éojaef) RO, PN faﬁdoﬁae 20T woeg Ném?
ThlS question paper has been sealed by reverse Jacket You have to cut on the right side to open
the paper at the time of commencement of the examination ( Follow the arrow ). Do not cut the
left side to open the paper. Check whether all the pages of the question paper are intact.
3. BInon Ereus BewSndmy mOR.
Follow the instructions given against the questions.
4. O mﬁd@é@%&d 903D @%ﬁ@mzﬁaaﬂ TPREIF ORI, BReORTH.
Figures in the right hand margin indicate maximum marks for the question.
5 &, ém% éodom u@ﬁm@@a 15 QNVANY Fomtedy) 0TS, wZORL ANOTRICT
*mojadm %, zﬁwé 303> doemr{d@ QeBENT.
The max1rnurn time to answer the paper is given at the top of the question paper. It
includes 15 minutes for reading the question paper.
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Ensure that, the Version of the question paper distributed to you and the Version
printed on your admission ticket is the same.
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N - D
SECTION - A

I 3 NS IIAOR opme oFPr Jewdnenr oy Scdnesy RN,

ORINSS. ézﬁ% ARTTRT YVITIR), B0, ©WT B, SRFTRRODN  J[ReoF

QOZTHR) WD 7Tx1=17

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1.

3Oy NeazoddoPNYY OFeR IYTeT TORFNTI), TRODTOT 3O
9T NeFB0O30T, N AEBRYIY, WBNROI PO

(A)  F T DO0IR FeFesFE (B) SRS LDOIR SPHTE

(C) g o0& B3 (D) BT Fe3, W00 (IS F P [w)

]
The Network in which certain computers have special dedicated

tasks, providing service to other computers is,
(A) Wide area network (B) Local area network

(C) Client server (D) World wide web
AN e:?o:béojaa 3% FINTIPNTY, 00T

(A) TSN (B) Q@ 3,300
(C) AT B Wowe (D) Bowdw,eer S
Accessibility option is available under

(A) Documents (B) All programs

(C) Help & support . (D) Control panel
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3. RA0D0RIT 538" QT I m%@é

(A) 0-4" (B) 06"
(C) 0-3” (D) 0-5"
The default value of tab stop position is

(a) 0-4" (B) 06"

() 0-3" (D) 0-5"
4. VBT ﬁae%ﬁcﬁ@ﬁeamw BTN BT 288,70
(A)  TpIFE (B) B

(€ owrse (D) m™F (3§)

(528

The text or image included at the top of the page are
(A) Footers (B) Headers

(C) Shortcuts (D) Graphs

5. wz%d w%waizt BT VTO3RENTI e:soﬁat5

(A) T, T T[S W (B) ATRT STJHRRIRD
(C) ©go 2089, (D) RPIJCE %a';

The option used to change the colour of the text is
(A) text highlight colour (B) clear formatting

(C) font colour (D) superscript
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II.

6.

ARTTT YOZTROT W THT :;;;a:mq WA TR ¢

FORTIS® FTOBWREF LN’ W) WA I AT, WTBUD CWAWTITO

(A) ?Soa%oja oI (B) Foo&F e g

€ rews, D) n&ms,

Conditional formatting allows you to change the option
(A) Number format (B) Font size

(C) Border thickness (D) Border size
ANQZ I ( cell ) NYY éfa@acbd DY, m@%mf@{ CRRTE ART,

WPRTe FRBIO0 WIROR e:sof)%
(A) esedReRS® (B) 5e3nemxs®

(C) e5e3nea0ess® (D) esednedeos®

The option used to add the values given in cells automatically
without writing any formula is

(A) Auto cell (B) Auto sum

(C) Automatic (D) Autorange

Fill in the blanks with suitable answer :

8.

10.

D 2.0 (LAN ) S QFZ TRT coovvvrirenienienin .

The expansion of LAN is ................. .

QOWIRE DOOTI weveeeivvrnnnnnnnns 35003 el WORCWOTY m@';decs.
Meebo is @ ...oevuennennenns based instant messaging software.
TIOETOUICRE v BRETFNFRY TLODTUBIW.

A database can have ............... tables.
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III.

11.

A-miodoe:’go %cw&owa DRIV ART R B-aaio:oq
ﬁucés‘doow@ﬁeéag eRT m:jcés‘doow awdgnﬁq ﬁwcwﬁaowm?ﬁ
RO emgdﬁeésg* gmgccmwa" B0 : 4x1=4

Description of the statements are given in Column "A" and
statements are given in Column "B" match them and write the
answer with alphabet :

A-w’éi B-E:’éi
Column-A Column-B
i) Beepderaon BROSODI), DERCONFYT  a)  @OWE féj NOspovelel A
Retrieval of information from Merge statement

the database

ii) BeeRTeTEnR I BRWSCDTY b) TS m’weésedaow
0RO Call statement

Insertion of new information
into the database

i) J0FHT BRGIDI) BeERWAIY, ) R TOWOL Feers0
ESPTORYT Save point statement

Deletion of information in the
database

iv)  J0FRT TnbdodI) BeRUAIY, d) AT FeesRooes
WRCORT wRBITY)T Insert statement

Modification of information in
the database

e) AST FeeFdo0es®
el ed

Select statement

) &DeesF ﬂwewmow

Delete statement
g STFEesE ﬁwew&ow

Update statement
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IV. 3:3NIT,IR9R 0301 : 6x1=6

Answer the following questions :

12.

13.

14.

15.

16.

17.

MeaBod008, HeF@F*F Q0TTERD ?

What is computer network ?

TVBHOFTEOY, T, T, FoTBRT WEPTTIY, T DF VTILeNTIZ S ?

Why do we use text highlight in word document ?
ﬁdﬁoﬁéd%oﬁa 0350 méwsqiw e383%¢ 803% dmdoﬁwgd ?
In which tab is clipart option available in word document ?
SR T UBOIRENEeRd ?

What is the use of custom view ?

o Tl

B

DBOTTICIE, T VeSO Ferk IH0303S ?

How to remove page break in spreadsheet ?

DBOTTIYODY, & T 0L S YVTOIRENB/IY, WICUD.

Write the use of line chart in a spreadsheet.

3:99N3 B, 3en ewgon : 5x2=10

Answer the following questions :

18.

TVEROFTEOIY, W NS, KRB TOSTNFTY, LITCO.

Fe] [ae]

Write the steps for inserting symbol in word processing.

&5 /[ OR
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19.

20.

21.

wdﬁof"«);d%odoe?q B4 BYNT ©ZT ZTRTNT YVTOIRENNTI), IO

() RTAT ITHRATR (J0DT’ TOBRELION)

<3

(b) Pne® Fex®

Write the uses of the following character formats :
(@) Clear formatting

(b) Toggle case.

DBOTTHIODE, CARTESR T, FFED SoBRTR FHOR.
= [=

RUBST TS 0T, 03TQ, dewrE WBY DTOL WO, WA BRETF
Re0RIT BOINTTY, LTAD.

Write the steps to insert table using title and content option in

digital presentation software.

Q- WORERONT'TY,  STICWOLFTO0ET  TRODROT  DIINYTY
TR0 B CIRYTIVTWTR 20T DTITTTY, WOR.

Write the two ways of scheduling an appointment in e-mail
messaging and explain any one method of scheduling an

appointment. : ‘*--.

Dm0 [OR st

Q-F0e TP, M, 0T, Tert BTORROZES 7 308 9, SOBO* 0T, 03B,
CINR)TOTTR TR 300D é’beﬁ%mfa}% WTO00.

How to start e-mail program ? Write any two views that are

supported by calendaring software.
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VI.

22.

RUR02F ( DBMS ) 3, 33 IINTRHNEG 0BO3ReNne=) oo :

(a) W F

(b) O3eRmI*

Write the use of the following in DBMS :
(@) Flat file

(b) Relational

3: 993 B 3en ewgon : 4x3=12

Answer the following questions :

23.

24.

25.

TVTEROFTEOY, TRINTR), FeORIT TOINTTY, LITOAWD.

S

Write the steps for inserting the objects in word document.

QB T,T300Y, SIRETI NYT, FeOFITW BOINFSY, WIWO.

Write the steps to insert animations in slide in digital

presentation.

9559 [ OR

QUL T)TS0DQ, SITERINFTY, FEORORTOOT SO TOFTITITO
YUTOIRENTIFTY, LITAAD.

Write the effects of uses of inserting an animation in digital

presentation.

RO D3I TES 0T, 03T CANTYTOWIR ST WPNYIY, S9R.  Fi

Mention any six categories in the time management software.

8 of 12



[CCE-II-RR(B)/999/8061 | | 86-EK (Level-2) |
26. Q02T (DBMS ) 3, 30300 TATONY B30T QHNRYIY, 230

(@) BOOLEAN (208030°)

(b) TINYINT (&a0E3)
(c) SMALLINT ('5%@5‘&0&36)

(d) NUMERIC (3p33000%°)

() CHAR

() LONGVARBINARY

Write the data type for the following names in DBMS :
(a9 BOOLEAN

(b) TINYINT

(c) SMALLINT

(d) NUMERIC

(€) CHAR

(f LONGVARBINARY

VIL 323903 33nek cvgon : 2x4=8

Answer the following questions :

27. QBOBHYODY 55 FINT IFNF), DWOR ¢

(a) ©O0w JF (WWT® WLFF)
(b) Bow TF (T 2IEIFF)

() 3N TF (D0CIe 23E3F)

(d) XY (T w0e'F) I
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Explain the following charts in spreadsheet :

(@) Bar chart

(b) Column chart
(c) Area chart

(d) XY (scatter ) chart

&5 [ OR
DBOBHTODQ, 55 FINT QEFFRNTFRY WOR
(a) AOBRT, DeFFB
(b) P AeS DB

(c) S3ees® Set3es®

(d) Tees® e3,65° 33,

Explain the following views in spreadsheet :

(@) Normal view
(b) Full screen view
(c) Page layout

(d) Page break preview

28. ﬂwcse @ewsqw@oswq 3en aozséfo%imrbgd ?7 DWO3.

| 86-EK (Level-2) |

Explain how the worksheet data is shared in a spreadsheet
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II.

III.

IV.

N -W
SECTION - B

Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write the
complete answer along with its question number and alphabet: 3 X1 =3
29. Identify the passive voice of the given sentence :

"Ravi had to revise the document"

(A) Ravi had to revised tin the document

(B) Ravi has to revised in the document

(C) The document was revised by Ravi

(D) The document had to be revised by Ravi
30. The pronoun in the following is

(A) himself (B) be

(C) do (D) like
31. The simple past tense among the following sentences is :

(A) It were beautiful summer day

(B) It was a beautiful summer day

(C) Itis a beautiful summer day

(D) It had beautiful summer day

Fill in the blank with suitable word given in the brackets: 1x1=1
32. Iwent to see her .............. she wasn't at home. (and, but)
Answer the following question : 1x2=2

33. Define the following :
(@) Intersection

(b) Fork Fieis
Answer the following questions : 4xXx1=4
34. Fill in the blanks with the appropriate word given in the brackets.
(i) I'm very excited about meeting my friend today ............. Dilli
Haat in the evening at 4. (on, at)
(i) My friend stays in INA colony near Dilli Haat, whereas my
house is quite far ................. it. ( across, from)
(iii) The hot momos served there are so tasty I can't wait ...........
eat them ! ( for, to)
(iv) I must hurry up and get ................. it or my plans for a great
evening will be spoilt. ( onto, in)
OR
Fill in the blanks with the appropriate word given in the brackets :
(i) Nishi: .oooviiiiiiieianen.e. I come in, Ma'am ? ( May, Might)
(i) Interviewer : It is Nishi, ............... ? (isit, isn'tit)
(iii) Interviewer : ............... salary are you expecting ?
( What, How much )
(iv) That is reasonable ............. will you be join ? ( when, where)
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